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1. Supplementary angles add to I 3 O ; -
2. What are the measures of anglesxand y? x= , 35 y= L} i
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3. Find the measure of angle a. a= Q6
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4. Triangle ABC has been dilated to create triangle A’B'C".
a. Label the image and preimage.
b. What is the measure of angle B’ ? Q,O
c. Whatis the scale factor? ___«“f
d. Find x. X = :)_‘:t
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Which example has an included angle?
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1 ) 1
87" 65°
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Complete the similarity statement. AABC ~ A "‘AI A 6\5 _— lgo—t'\,\
A0’
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What is the definition of: C 4+ D Gre la-!‘ll’\—v

Similar figures - SGw 5\/10\406.4 Sanag, CMD\‘L\ 0(519—’?’4’15”\.0«" side 5 2‘
Dilation - _CN { O C S %-vbtrla.r LnCaLL(‘LS 5\/\\»”1#\1{‘1 Y~ LS
Proportional - Newvi A & Cuv’)sf}an-l- r’ﬁ'f-.), eqU v&Lz,m‘\’ ‘Fffﬁ(fi'lor’\j
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Are the triangles similar? Circle One. m No
If yes, by which property? Circle One. 7555 ) SAS AA

Show your work.
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Complementary angles add to

What are the measures of angles x and y? x = IZ—LO y= 5L‘I>
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11. Triangle ABC has been dilated to create triangle A’B’C’.
a. Label the image and preimage. .
b. What is the measure of angle B’ ? l O
c. What is the scale factor? Do not round. ) 2-5
d. Find x. X=

of X
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12. Which example has an included angle?
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13. Complete the similarity statement. AABC ~ A

<7 A

14. Are the triangles similar? Circle One. @ No

If yes, by which property? Circle One. SSS AA

Show your work.
192

18

21°

96

4 - 90
VI



15. Are the triangles similar? Circle One. Yes @

If yes, by which property? Circle One. SSS  SAS  AA

Show your work. ? )"J Z‘Lll
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16. Name a pair of adjacent angles on the sketch. Angles A and C
17. Name a pair of vertical angles on the sketch. Angles (4 and ]Q
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18. What are the measures of angles x and y? x = )\_)E' y= .7 l
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19. Triangle ABC has been dilated to create triangle A’B’C’.
a. Label the image and preimage. B
b. What is the measure of angle B? 2@
c. What is the scale factor?
d. Find x. tﬁ’
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20. Complete the similarity statement. AABC ~ A '.)

wA

21. Are the triangles similar? Circle One. 0
If yes, by which property? Circle One. SAS) AA

Show your work.
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22. Are the triangles similar? Circle One. o ¥es No

If yes, by which property? Circle One. @ SAS  AA
Show your work.
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23. What are the measures of angles xand y? x= }5 O y= SO
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24. Triangle ABC has been dilated to create triangle A’B’C’.
e. Label the image and preimage. 5

f.  What s the measure of angle C ? ()
g. What s the scale factor? 2.5
h.

Find x. X= (90
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25. Complete the similarity statement. AABC~ A \/1D [__—g D
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26. Are the triangles similar? Circle One. Yes <@
If yes, by which property? Circle One. SSS  SAS  AA
Show your work.
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27. Are the triangles similar? Circle One. Ye No
If yes, by which property? Circle One. SAS  AA

Show your work. h’b [q ?/I
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28. Find x. L'{ 38.
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44, Find AB. Round to the nearest tenth. L&’Lc )(
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45. Find y@ 6. Seoma as L}Z

ST | RU. Find 7U.
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47. lg{f %# 48. Find AC. Round to the nearest tenth L{ 5
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